[ Efficiency vs vertpos |
0.8

0.7

0T

0.4F

efficiency vs vert r

0.3

VI —

0.1

10k

Ratio

1.05f|

43

0.95:
1072

10 0?
TP vertr (cr%)

T

Efficiend —— %g

=
)

£ {QFFI ea{ég;gdmvmu._wwm
:Eﬁs - %&iﬁ?ﬁ—]‘%@%bnm% 1000evt

H
I
i
i
;

efficiency vs vert z

X SN S Lot S | S

ij%:::::::;t: {M i

R s S

Ratio

-

o

U1

!
f—t—r— L

T [

99320 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

S S A S S U

efficiency vs Sim. PV z

02-------- ---------------------------------------

Ratio

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


